AL WAy T PAY =] 358

PTFE/SO

EHiRR

Part Number
29000S0030050004
29000S0030050006
2900050030050008
2900050030050010
29000S0030050012
29000S0030050016
29000S0030050020
29000S0030050025
2900050030050030
2900050040070012
29000S0040070016
29000S0040070020
29000S0040070025
29000S0040070030
2900050050080012
2900050050080016
29000S0050080020
29000S0050080025
29000S0050080030
29000S0050080035
29000S0050080040
2900050060100012
29000S0060100016
29000S0060100020
29000S0060100025
29000S0060100030
2900050060100035
2900050060100040
29000S0060100045
29000S0060100050
29000S0080125012
29000S0080125016
2900050080125020
2900050080125025
29000S0080125030
29000S0080125035
29000S0080125040
29000S0080125045
2900050080125050
2900050080125055
29000S0080125060
29000S0080125065
29000S0080125070
29000S0080125075
2900050080125080
2900050080125085
29000S0080125090

hﬂ
M3 x4
M3 x6
M3x8
M3x10
M3x12
M3x16
M3x20
M3 x25
M3x30
M4 x12
M4x16
M4 x20
M4 x 25
M4x30
M5x12
M5x16
M5x20
M5x25
M5x30
M5x35
M5 x40
M6x12
M6x16
M6x20
M6x25
M6x30
M6x 35
M6x40
M6x45
M6x50
M8x12
M8x16
M8x 20
M8x 25
M8x30
M8x35
M8x40
M8x45
M8x50
M8x55
M8x60
M8x65
M8x70
M8x75
M8x80
M8x 85
M8x90

A
Size (mm)

DK K )
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
7 391 305
7 391 3.05
7 391 3.05
7 391 3.05
7 391 3.05
85 491 4.06
85 491 4.06
85 491 4.06
85 491 406
85 491 406
85 491 406
85 491 4.06
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 585 5.08
10 585 5.08
10 5.85 5.08
10 5.85 5.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08
13 7.82 6.08

Dk =K

[ 2
»
=

BRI

Part Number
29000S0100150012
29000S0100150016
2900050100150020
2900050100150025
29000S0100150030
29000S0100150035
29000S0100150040
29000S0100150045
2900050100150050
2900050100150055
29000S0100150060
29000S0100150065
29000S0100150070
29000S0100150075
2900050100150080
2900050100150085
29000S0100150090
29000S0100150095
29000S0100150100
29000S0120175012
2900050120175016
2900050120175020
29000S0120175025
29000S0120175030
29000S0120175035
29000S0120175040
2900050120175045
2900050120175050
29000S0120175055
29000S0120175060
29000S0120175065
29000S0120175070
2900050120175075
2900050120175080
29000S0120175085
29000S0120175090
29000S0120175095
29000S0120175100
2900050120175105
2900050120175110
29000S0120175120
29000S0120175150

h#EFR A BENST

s
M
M10x12
M10x16
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60
M10x65
M10x70
M10x75
M10x80
M10x85
M10x90
M10x95
M10x100
M12x12
M12x16
M12x20
M12x25
M12x30
M12x35
M12x40
M12x45
M12x50
M12x55
M12x60
M12x65
M12x70
M12x75
M12x80
M12x85
M12x90
M12x95
M12x100
M12x105
M12x110
M12x120
M12x150

DK
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16

17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87
17.87

Size (mm)

K
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82
9.82

11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79

S
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1
8.1

10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1
10.1



	Sheet2

